
c¢Čv # 1                                                                                                                                                  c¢Čv # 2 

 

 djvdj §Zwii wbqg t  

1|  AaÁ evwlÁK cixėvi 80% + ¤kîwY Afxėv-1 Gi 100% = ¤gvU b¼^i 

2|  evwlÁK cixėvi 80% + ¤kîwY Afxėv-2 Gi 100% = ¤gvU b¼^i 

3|  AaÁ evwlÁK I evwlÁK cixėvi Mo b¼^¥ii 80% + ¤kîwY Afxėv-1 I  

 ¤kîwY Afxėv- 2 Gi Mo b¼^¥ii 100% = ¤gvU b¼^i 

4|  ¤gvU b¼^i ¤MîwWs G i¡cv´åi Kiv n¥e| 

5|  cvk b¤^i 50%  

 

 

       

 

       


